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No. 75 + 0 0.0
No. 76 + 0 10 0.00 0.0
No. 77 + 0 10 88.0 44.02 440.2
No. 78 + 0 10 105.5 96.77 967.7
No. 79 + 0 10 114.6 110.04 1,100.4
No. 80 + 0 10 93.0 103.79 1,037.9
No. 81 + 0 10 103.9 98.47 984.7
No. 82 + 0 10 49.0 76.48 764.8
No. 83 + 0 10 0.0 24.52 245.2
No. 84 + 0 10 0.0 0.00 0.0
No. 85 + 0 10 0.00 0.0
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Fh- et mg/L M EnGLlE
AEREEFOEES mgL 0.005 mg/LELF
HEED LR IFDIEER mg /L 01 masLELF
ML T OEE g L 01 mg LELTF
Al S _— | me/LELF
METoLEES mgL 05 -rnE_.-“LE.I.'F
DERRIFTDIEER mgs L 0.1 mg/LELF
LFEE mg/ L 1 e/ LT
FUSEEE 2= mg/L 0.003 mg/LEF
HRFEDESE mg/L I ma/ LT
BRI TSl mig L 2 me/LELTF
Aafk i Mg/ L 15 me/LELF
FUS AT F L mgsL 0.3 mgsLELT
THZFIO00IF L mg/ L 0.1 mg/LLELCF
AU L REFEIHES S mg/ L 2.5 mg/LELTF
SOLMIZTEODIEER mgsL 2 i LELTF
=y F|2ETHE S miL 1.2 mg/LELTF
AFEe LT REOEES me/L 1.5 meg/LELTF
FRIERLEED mg/ e 40 mekgkl T
e & = L gL 0.2 mp/LLELT
L oo gL 002 me/LELTF
1 2=+ OO0 % gL 004 mg/LELTF
11-200TFL-2r gL 1 meg/LELTF
LA~ 2= 00T F Loy me- L 04 mg/LELTF
1.1 -0 0T a mgL 3 me/LELTF
112=F)S00T8 mgsL 006 me LET
13-Aon7o<L, mg/ L 0.02 mg/LELTF
Frazls mgs L D06 mg LT
PR mgs L 003 mg/LELTF
FHAADNT mgL 0.2 mg/LELF
T mg L 0.1 mg/LELF
El-oRliEEoiEEH mg/ L 0.1 mg/LETF
1 4= 52, mg/ L 0.5 mg/LELTF
B g e - pe=TEQ/L 10 pe=TEQ/LELF
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